[ Efficiency vs vertpos |

Efficiend

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_updated-127

~ 0.1
20.09
o
>0.08
>
2
.90.07
o
£0.06
()
0.05]
0.04
0.03
0.02
0.01
0

..............................................

..............................................

...........................................

1]

Ratio

0.9

0.8l

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05
>
£0.045
£
50.04
9.035
3
20.03
k)
9.025
[J]
0.02
0.015
0.01

0.005

Y

0
il

Ratio

0.9

B e B R A o LEEE EEEEE
-+
- . -+
T4

:(5 R R R L LR R R LR AR LRRR LRRRE LARLE RRRRN RRR

-5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


